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QUESTION 1

What limitation exists when WMM is not enabled on an 802.11n WLAN?
A. 802.11 QoS will not be available

B. The maximum channel-width will be 20MHz

C. EDCA values will change

D. Only two ACs will be available

Correct Answer: A

Reference: https://mrncciew.com/2013/07/30/wmm-qos-profile/

QUESTION 2

During a validation site survey, you realize that the installers mounted some of the APs above the ceiling. They said that
this was a request from the building architect due to aesthetics constraints. During the requirements gathering, you
weren\\'t advised about any aesthetics constraints from the main stakeholder of the project. What should you do in this
case?

A. Advise the stakeholder that WLAN performance requirements will not be met and a new design process will be
needed to meet the requirements.

B. Leave it as it is and allow automatic channel management to correct any issues.
C. Increase the output power on all APs by 6 dB immediately.
D. Remove all external antennas and use only the internal antennas to reduce multipath.

Correct Answer: A

QUESTION 3

A customer is acquiring a new VoWLAN system to replace their existing wired phone system. When reading about his
system\\'s requirements, you learned that is requires 25 db of SNR to work as expected. After surveying the
environment, you discovered that the noise floor is -88 dBm. What should be the minimum RSSI value to meet the
system\\'s requirements?

A.-70 dBm

B. -67 dBm

C.-65dBm

D. -63 dBm

Correct Answer: B
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QUESTION 4

When using a predictive design tool, you have selected APs with an antenna gain 3 dBi and set the transmit power of
the predicted APs to 25 mW. What should be EIRP of the APs in the design?

A. 11 dBm
B. 6.25 mW
C. 125 mwW D. 17 dBm

Correct Answer: D

QUESTION 5

What kind of site survey helps you identify if roaming is working as designed?
A. Passive

B. Predictive

C. Active

D. Spectrum analysis walkthrough

Correct Answer: A

Reference: http://revolutionwifi.blogspot.com/2013/
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